29 BEEAGH. A - mEAR (2 —-1)

(B A) ek RE:

X% wi | 1A | 28| 38| 48| 58| 68| 78| 88| 9A 108 ]| 1A | 128
2 2,667 201 222 328 220 217 246 223 206 200 202 211 191
G 2,190 156 191 272 181 181 201 181 158 156 165 180 168
il 477 45 31 56 39 36 45 42 48 44 31 31 23
EHH 43 28 49 52 3 3 32 34 31 43 3 34 27
RO TR 436 28 49 52 3 32 32 34 31 43 3 34 27
AT 346 25 20 53 26 29 3% 32 25 26 27 25 22
HAZR T (R AR 346 25 20 53 26 29 3% 32 25 26 21 25 22
INEETH 76 8 5 8 8 7 9 5 5 4 310 4
AT 144 11 15 16 10 17 19 10 6 10 4 1115
INBHET - - - - - - - 1 - 1 -
£ R FEHT 13 1 1 3 2 . - 1 2 1 - 1 1
I E# 4 1 - 1 - 1 1 - - - - - -
AT 3 2 - - - - - - 1 - - - -
FFE AT 2 - 2 - - - - - - - - - -
FEFEAF - - - - - - - - 1 1 - -
&2 3+3RET 31 6 1 3 1 3 1 3 3 3 5 2 -
#E14¢ T 28 4 3 2 2 2 8 1 1 2 - 1 2
LRI 12 - 1 1 1 - - - - 5 2 2 -
£ R R FR 318 33 28 3 24 3 38 20 19 26 16 28 22
=L 200 18 19 21 19 15 13 14 17 16 16 20 13
R 38 2 3 3 4 3 3 5 3 2 2 4 4
FANHT 4 - - - - - 1 - 2 E - 1 -
LESH T R T
B 247 20 23 25 23 18 18 20 2 18 18 25 17
Bat 50 - 6 2 8 8 3 5 1 4 4 4
e 74 5 4 7 7 6 7 9 2 6 8 4
FEh 86 8 2 10 11 6 9 3 7 5 9 7 9
T EmEAET 21 - 1 3 2 3 2 3 1 2 - 3
ELRE 13 1 - - 1 1 2 2 1 - 2 -
BT 14 2 1 1 2 2 2 1 - - - 1
IR 256 16 14 30 24 26 20 19 27 10 20 21 21
E2E 104 14 1210 9 6 10 10 3 5 9 7
B 4R 38 1 3 7 4 3 1 5 - 3 3 3
REFET 20 4 2 4 3 - - 1 1 1 - 2 2
ZE R 27 1 1 2 1 3 2 4 3 1 2 4 3
SR ST 7 1 - 2 1 1 - 1 - 1 - - -
LT 21 3 1 2 2 1 1 2 4 1 1 1 2
e 4 - - 1 - - 1 1 1 - - - -
EEA 12 1 3 - - 2 1 1 1 2 1 - -
IR 233 25 2 28 20 16 16 25 13 14 18 19 17
SRE 141 g 18 23 14 12 13 713 8 9
Fi ) 11T 11 - - - 1 1 - 2 1 1 -
E) 15 - 1 1 2 - 3 2 4 1 - -
P ET 2 - - - - . - - 1 - 1 - -
(OESES) 1 - - - - - - 1 - - - - -
FEAF 3 - - - 1 - - - - - - - 2
TR 4 1 - - - - - 3 - - - - -
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29 BEEAGH. A - mEAR (2 —2)

(B - N) SH3E
X5 B 1A 2A 3A 4 A 58 6 A 7R 8 A 9R | 108 | 118A | 128
FEARAT 1 - - - - - - - - - - 1 -
REH 1 - - - - - 1 - - - - - -
BARH 2 - - - - - - - - 1 1 - -
- daw ol 8 2 - - 3 - 2 - 1 - - - -
B H R 189 11 19 24 21 13 19 15 20 12 12 12 11
N 7 - 2 1 1 1 - - 2 - : : -
FAEHT 5 - - 2 - 1 - - - - - 2 -
AREHET 7 - - 1 1 1 - - 1 1 1 - 1
AREF 2 - - 1 1 - - - - - - - -
RER 2 - - 1 - - - - - 1 - - -
RS RERT 23 - 2 6 3 3 - - 3 2 1 2 1
ERT 098 8 12 8 7 11 10 7 6 11 4 9
ZEHH 121 8 18 6 11 11 9 7 9 9 12 13
FRIEHT 1 - - 1 - - - - - - - - -
AR AT 2 - - - - - - - - 1 1 - -
Lz 4t 16 2 1 2 3 1 - 2 1 1 2 - 1
=R o 8 - - 1 - - 1 - 1 3 1 - 1
FALHT 2 - - - - - 1 - - - - 1 -
IWARRERT 248 15 17 34 17 19 24 21 16 20 24 17 24
KET™ 25 2 4 2 1 3 1 3 1 - 3
;th F ET 19 2 - 1 2 - 1 - 2 3 1
NIIES) 14 3 2 3 - 1 2 - 1 - 2 - -
BE+ 12 - 1 2 - 1 1 - 2 1 2 1 1
INEFY 2 - - - - - - 1 1 - - - -
KET{EREERT 72 7 7 8 8 5 6 3 7 5 7 4 5
AR 68 6 5 11 4 2 4 8 4 5 5 9 5
TFelimh 65 4 7 3 4 7 4 10 4 3 5 6 8
I3 BT 23 2 2 2 2 3 4 3 1 2 1 - 1
N B ET 12 2 1 2 - - - 1 2 2 2 - -
= F 4 - 1 - - 1 - 1 1 - - - -
{Ei=HT 8 1 1 3 - 1 - - - 1 - 1 -
A 450 BT 15 - - 2 2 1 2 1 - 3 2 2 -
NI 1 - - - - - - 1 - - - - -
RERERT 196 15 17 23 12 15 14 25 12 16 15 18 14
FEFH 56 2 3 4 8 6 5 6 3 5 5
LT 23 1 - 5 - 3 4 1 - - 4
L/ RET 11 1 1 2 - 2 2 - 1 - 1 -
REFH 6 - - - - - 2 - 1 1 1 1 -
FFRRRH 4 2 - - - 1 1 - - - - - -
¥ - - - - - - 1 - - - - -
IERERR 101 6 4 11 6 11 14 9 11 8 5 6 10
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